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[Text]
Mr. Arbuckle: Mr. Chairman, are you refer-
ring to what difficulties we will have with the

averaging formula as proposed in the White
Paper?

Mr. Ritchie: No, you have started into a
five year averaging in the White Paper; you
are going to have to put it into effect. There-
fore, what is involved if you have a five
year block averaging for every taxpayer, the
same as our farmers or fishermen? Has your
Department looked into this, or had any
ideas?

Mr. Arbuckle: No, Mr. Chairman, we have
not looked into an alternative averaging
proposal.

Mr. Ritchie: What about the present ones?
Have you checked something on this?

Mr. Arbuckle: On the computer averaging?

Mr. Riichie: Yes, as proposed in the White
Paper.

Mr. Arbuckle: We have, yes.

Mr. Ritchie: Have you any figures on what
percentage of taxpayers would have an aver-
aging problem, or would the averaging provi-
sions apply?

Mr. Arbuckle: We have no statistics on
how many taxpayers would benefit from the
averaging formula in a year.

Mr. Ritchie: I see. All right. Turning to
child care deductions, there is going to be
a lot of family involvement. Let us say that
typically you have a widower with three
infant children who has a housekeeper. What
is his tax structure under these proposals?

Mr., Coté: We did not get the question. A
widower with three children?

Mr, Ritchie: As an example of the work-
ings of this child care expense allowance, let
us say a widower has a household with three
infant children, and a housekeeper. Is she a
baby-sitter? Can this person declare a...

Mr. Cbté: If she has to stay home to take
care of her own children?

Mr. Ritchie: No, no.
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[Interpretation] ‘
M. Arbuckle: Monsieur le président, parlez- |
vous des ennuis que nous aurons avec la for- |

mule d’étalement, comme on ’a proposée dans
le Livre blanc?

M. Ritchie: Vous parlez d’un étalement de {
cing ans dans le Livre blanc; vous devrez le |
mettre en vigueur. Par conséquent, qu’est-cé |
qui se passe si I'on a un étalement quinquen~
nal pour tous les contribuables, comme pour
les cultivateurs ou les pécheurs? Est-ce qué
votre ministére a considéré la quiestion?
Est-ce qu’il croit pouvoir la résoudre?

M. Arbuckle: Nous n’avons pas songé a pro-
poser d’autres facons d’étaler les revenus.

M. Ritchie: Avez-vous examiné le systeme
actuel?

M. Arbuckle: Parlez-vous de l’étalement 2
l’aide de Yordinateur?

M. Ritchie: Oui, comme il a été proposé
dans le Livre blanc.

M. Arbuckle: Oui, nous avons fait des
vérifications.

M. Ritchie: Combien de contribuableg, en
pourcentage, auraient des difficultés d’étale-

ment. Est-ce que les dispositions d’étalement
s’appliqueraient?

M. Arbuckle: Nous n’avons pas de statisti
que nous disant combien de contribuables
profiteraient de la politique d’étalement au
cours d’une année.

M. Ritchie: Quant aux déductions pour
frais de garde d’enfant vous savez qu’il ¥
aura beaucoup de familles en cause. Disons,
par exemple, qu'un veuf a trois enfants et
une femme de ménage. Quelle est la structure
fiscale qui s’applique dans un tel cas en vertu
des propositions?

M. Céié (Longueuil): Nous n’avons pas com-
pris la question. Parlez-vous d’un veuf ayant
trois enfants?

M. Ritchie: Je donne un exemple du fonc-
tionnement de l’allocation pour les frais de
garde d’enfant. Disons qu'un veuf a trois
enfants et une ménagére pour s’occuper de la
maison. Est-ce qu’elle garde les enfants?
Est-ce qu’elle peut déclarer...

M. Cété (Longueuil): Si la personne doit
rester 4 la maison pour prendre soin de ses
enfants?

M. Ritchie: Non.



